
WWW.gronomics.com East Bethel, MN USA   763-753-7374

Umbrella Stand w/Mounting Plate 

(28” x 28” x 16”H) Assembly Instruction

Continued   

                                                                                         Parts List

ITEM QTY. PART # DESCRIPTION

1 1 USMP Umbrella Stand/Mounting Plate
2 4 RSS14-212ZY GRK RSS Screws, 1/4” x 2-1/2”

3 2 3/8” x 2-3/4” 
w/Nut Bolt, 3/8” x 2-3/4”, w/Nut

Packaged & Inspected by: Date:

The Umbrella Stand/Mounting Plate can be used with
the PTBT 39-39 - Picnic Table Bar Top, purchased
separately.

If any pieces are missing or replacement parts are
required, contact Gronomics at 1-855-299-6727.

NOTE: It is recommended to place a protective layer
between the ground and the pieces during assembly.
This will help prevent damage to the pieces.

Parts Identification Item #: USMP 28-281

1 2
Torx® T25

3

Assembly2
Lay the Picnic Table Bar Top on its side.

NOTE: Make sure to lay something underneath the table
to prevent scratching the wood.

Align the Umbrella Stand w/Mounting Plate (Item 1) with
all four legs of the Picnic Table Bar Top.

Install four 1/4” x 2-1/2” screws (Item 2) in the pre-drilled
holes on the mounting plate.

1

2 2

2 2



WWW.gronomics.com East Bethel, MN USA   763-753-7374

Assembled product will look as shown.

NOTE: Be careful when moving the table and stand to
avoid scratching patio or deck surface.

Finished Assembly3

If using the umbrella with a 42” high table, raise the
umbrella to proper height and install a bolt 3/8” x 2-3/4”,
w/Nut (Item 3) into the hole on the umbrella stand.

Raise Umbrella4

3


